
Exam2

# (a) F ()T(C) T (d)Talways)

(e) F (because #A)
(f)T (because S1 , 23 = P(A)

(g) % , 313 ,523 , 533 , 31 .23 ,31 ,33 , 52 .33, 51 .
2 ,33

Note & + 363 !

& A = She : -132n24 ,
2/n3= 5- 12 , -10 , -8 ....0.43

B = Suc : - 3in[73 =5 - 3 ,
-2
.
-1 ..

1
5 . 6 ,73

(a) A-B = S-2 , 0 , 2 , 43

(b) A- B = 5 - 12, 10. - 8 . - 6 ,
- 43

()B - A = 5 - 3 ,- 1 , 1 , 3 , 5 , 6 , 73

(d) /A@Bl = 5+ 7 = 12
(s (AuB) = /Al + IB) - 1AuR) =9+ -4 = 16

(f) /AxB1 = 9x11 = 99
-

2 A

calc Wi
(Bus) - A (B-A) UC



(b) Just need An(#0 : A = B = C= S1)

(c) Need Anc =0 A = B= 31 , C= 52]

# (a) ExeTFyel : x < Y
(b) Jx FyeT) : xxY

(c) There is an integer which is

greater than or equal to every
integer,

⑤ (a) ExEIFygIxy T

(b) JxEN5yEN X >y F

T
(C) FxEIN JyGIN xy (x =0

(d) VyEN -xeIxy F

8 (a) (54) 4-card hands

from deckof 52

(b) (12) (take from clubs)
Y choices of suit,

(c) (13) :4 (i) choiceo cards)



(d) 13 C itspipY 4

# (a) 266

(b) (3) - 253 (wastodc
() 256
(d) 256 + 256- 246

(e) 256 + 256 + 256- 296- 248 - 243+23


